Name: Date:

Teacher: Class:

DAMSS503

Why did it take the monster ten months to finish a book?
Because he wasn't very hungry.

All four operations on one sheet

- 85452 94703 18524 6,082°> 3,450°% 4,196
+ 1,404 + 1,019 + 6,002 + 2,813 + 4,119 + 4,101

o 7,7398%  1,719°% 4,640 1% 55051 10231 7,139
-2611 -1310 - 3,110 -4303 - 1,011 - 5,101

13. 12 14. 7 15. 3 16. 6 17. 11 18. 9
x 12 x 12 x 12 x 12 x 12 x 12

4.

19, 20. 21. 22. 23. 2
12)60 12)108 12)24 12)120 12)144 12)96

. 467626 89292 7,007% 89892 21773 7,487

314,255 3 3,871 3% 6,334 3% 9,254 3% 9,662 % 8,028
- 1,153 -2501 - 4103 - 8,121 - 3,521 - 1,016

37. 2 38. 4 39. 5 40. 1 41, 10 42. 8
x 12 x 12 x 12 x 12 x 12 x 12

4 8.

3 44, 45, 46. 47. 4
12)36 12)72 12)48 12)84 12)132 12)12

© Facilitators Ferriswheel Score:



Answer Key Date:

Teacher: Class:

DAMSS503

Why did it take the monster ten months to finish a book?
Because he wasn't very hungry.

All four operations on one sheet

- 85452 94703 18524 6,082°> 3,450°% 4,196
+ 1,404 + 1,019 + 6,002 + 2,813 + 4,119 + 4,101

9,949 10,489 7,854 8,895 7,569 8,297

o 7,7398%  1,719°% 4,640 1% 55051 10231 7,139
-2611 -1310 - 3,110 -4303 - 1,011 - 5,101

5,128 409 1,530 1,202 12 2,038
13. 12 14. 7 15. 3 16. 6 17. 11 18. 9
x 12 x 12 x 12 x 12 x 12 x 12
144 84 36 72 132 108
19. 5 20. 9 21 2 22. 10 23. 12 24, 8
12)60  12)108 12)24  12)120 12)144 12)96

. 467626 89292 7,007% 89892 21773 7,487

8,898 9,959 9,488 9,999 5,288 8,497

314,255 3 3,871 3% 6,334 3% 9,254 3% 9,662 % 8,028
- 1,153 -2501 - 4103 - 8,121 - 3,521 - 1,016
3,102 1,370 2,231 1,133 6,141 7,012

37. 2 38. 4 39. 5 40. 1 41. 10 42. 8

x 12 x 12 x 12 x 12 x 12 x 12

24 48 60 12 120 96

43. 3 44. 6 45, 4 46. 7 47. 11 4s. 1
12)36  12)72  12)48  12)84  12)132 12)12

© Facilitators Ferriswheel Score:



